Fa#Ii 8] easyCpp writeup

Code Segment F 2021-01-13 22:20:39 ki 43 ISR

3FKERE: CTF CTF Reverse L EHRE: c++

WA S B . A SONTE R R AISCE, B1E CC 4.0 BY-SA FRAUMMYL, i LR SCH b mA S,
AR https://blog.csdn.net/qq_43547885/article/details/112596114

FERAL

.._..A CTF _[E] B

5 R3E 05

W £
:f""'""'

CTF Reverse
6 mICEO0ITH
1T b &4

XEHRZR

o

Part01: ¥I#ak

Part02: A “transform’ %t “vector' #47#1E
Part03: i "accumulate’ Xt 20 o R 34T kb B
Part04: FRM— K

[£83
i

3 F STL FE B B 20 #r >
“*lambda 3% 25 [
o —BEZLMLK C++ KN, MEZFEAE—T
5t

o G4fielf, Tk, EIEHEAN IDA FHEATHHT
o TFERPHAIMAE main RH LU

Part01: @Jﬁﬁ'ﬂﬂ


https://blog.csdn.net/qq_43547885
https://blog.csdn.net/qq_43547885/category_10406740.html
https://blog.csdn.net/qq_43547885/category_9734907.html
https://so.csdn.net/so/search/s.do?q=c%252B%252B&t=blog&o=vip&s=&l=&f=&viparticle=
http://creativecommons.org/licenses/by-sa/4.0/
https://blog.csdn.net/qq_43547885/article/details/112596114
https://blog.csdn.net/qq_43547885/category_10406740.html
https://blog.csdn.net/qq_43547885/category_9734907.html

o EHX vector FRBHMTHM, REHAFA for 1EIR, S M

LATEAN 16 ML RERA fib R —

A~ vector .

3l v32 = _ readfsqword(®x28u);

1 std::vector<int>::vector(v24, argv, envp);
5| std::vector<int>::vector(v25, argv, v3);

5| std::vector<int>::vector(v2e, argv, v4);

7l std::vector<int>::vector(v27, argv, v5);

3| std::vector<int>::vector(v28, argv, v6);

) for (1 =0; 1 <= 15; ++1 )

A

L scanf("%d", &v31[i]);

2 std::vector<int>::push_back(v25, &v31[i]);
3|} |

1 for (] =0; 7 <= 15; ++7 )

o A

> LODWORD(v3@[e]) = fib(j);

7 std::vector<int>::push_back(v24, v30);
31}

fib BREGHE T ER REF)

LA VITVY M

R R e Y

| _inte4 _ fastcall flb(lnt al)

{
int v2; // ebx

if ( la1l || a1
return 1LL;

= fib(al - 1);
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return v2 + (unsigned int)fib(al - 2);
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* [@Orler FEeryorm an Operation on a Sequence.
* [@ingroup mutating_algorithms
* (@param __first An input iterator.
* (@param __last An input iterator.
* (@param __result An output iterator.
* [@param __unary_op A unary operatar.
# (@return An output iterator equal to @p __result+(__last-__first).
*
# Applies the operator to each element in the input range and assigns
* the results to successive elements of the output sequence.
* Evaluates @p *(__result+N)=unary_op(*{__first+N)) for each @c N in the
* pange @p [@,__last-__first).
&
* [@p unary_op must not alter its argument.
*/
<_InputIterator,_OutputIterator,_UnaryOperation>
_OutputIterator

transform(_InputIterator __first, _InputIterator __last,
_OutputIterator __result, _UnaryOperation __unary_op)

// concept requirements

__glibcxx_function_requires(_InputIteratorConcept<_InputIterator>)

__glibexx_function_requires(_OutputIteratorConcept<_OutputIterator,
// "the type returned by a _UnaryOperation”
__typeoT__(__unary_op(*__Tirst))>)

__glibcxx_requires_valid_range(__first, __last);

for (; __first !'= __last; ++__first, (void)++__result)
*__result = __unary_op(*__Tirst);

return __result;
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std::vector<int>: :push_back(midvec, iptFir);
midVecIns = std::back_inserter<std::vector<int>>(midVvec);
iptVecknd = std::vector<int>::end(iptVec);
iptVecBeg[@] = std::vector<int>::begin(iptVvec);
iptVecSec = __gnu_cxx::__normal_iterator<int *,std::vector<int>>::operator+(iptVecBeg, 1LL);
std::transform<__gnu_cxx::__normal_iterator<int *,std::vector<int>>,std::back_insert_iterator<std::vector<int>>,main::{lambda(int)#1}>(
iptVecSec,
iptVecEnd,
midVecIns, |
iptFir);

o KEHUETEA lambda RERX, BHEME R, BEAKEAKHNSHAEMNERE
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1 inté4 _ fastcall main::{lambda(int)#1}::operator()(_DWORD **al, int a2)
2q

3 return (unsigned int)(**al + a2);

41}
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V12 = __readfsqword(@x28u);
while ( (unsigned __ int8)__gnu_cxx::operator!=<int *,std::vector<int>>(&v18, &v9) )

{

value = (unsigned int *)__gnu_cxx::__normal_iterator<int *,std::vector<int>>::operator*(&v10);
mid = main::{lambda(int)#1}::operator()(&z4 , *value);
v5 = std::back insert iterator<std::vector<int>>::operator*(8output);



std::back_inseFt_iter;tor<std::vector(int>>::operator=(v5, &mid);
__gnu_cxx::__normal_iterator<int *,std::vector<int>>::operator++(&v16);
std::back_insert_iterator<std::vector<int>>::operator++(&output);

}

return output;
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# @brief Accumulate valves in a range with operation.

*

*+ Accumulates the valuves in the range [first,last) using the Function
4 object @p __binary_op. The initial value is @p __init. The values are
* processed in order.

*

+ @param __first Start of range.

% ([@param __last End of range.

# (@param __init Starting valuve to add other values to.

% ([@param __binary_op Function object to accumulate with.

* @return The final sum.

o

¢

<_InputIterator,_Tp,_BinaryOperations>

inline _Tp

accumulate(_InputIterator __first, _InputIterator __last, _Tp __init,
_BinaryOperation __binary_op)

// concept requirements
__glibecxx_function_requires(_InputIteratorConcept<_InputIterator:)

__glibcxx_requires_valid_range(__first, __last);
for (; __first != __last; ++__first)

__init = __binary_op(__init, *__first);
return __init;
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while f_(unsigned _int8)_ gnu_cxx::operator!=<int *,std::vector<int>>(&begin, &end) )
{
value = *(_DWORD *)__gnu_cxx::__normal_iterator<int *,std::vector<int>>::operator*(&begin);
std::vector<int>::vector(midvec2, a4);
main::{lambda(std: :vector<int>,int)#2}::operator()(midvecl, &a7, midVec2, value);
std::vector<int>::operator=(a4, midvecl);
std::vector<int>::~vector(midvecl);
std::vector<int>::~vector(midvec2);
__gnu_cxx::__normal_iterator<int *,std::vector<int>>::operator++(&begin);
}
std: :vector<int>::vector(vi2, #4);
return v12;
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value midl mid2 midl
midl_1 = midl;

vle = a2;

mid2_1 = mid2;

value 1 = value;

v12 = _ readfsqword(@x28u);

std: :vector<int>::vector(midl, a2, mid2);

std: :vector<int>::push_back(midl, &value 1);

mid1Tns = std::back_inserter<std::vector<int>>(midl_1);

end = std::vector<int>::end(mid2_1);

begin = std::vector<int>::begin(mid2 1);

std::copy<__gnu cxx::_ normal iterator<int *,std::vector<int>>,std::back_insert_iterator<std::vector<int>>>(
begin,
end,
midlIns);

return midl_1;

lambda [begin,end)

accumulate lambda

iptVec fibVec flag

int decrypt() {
vector<int> fibVec;
int cnt;

for (cnt 0; cnt 16; cnt++) {
fibVec.push_back(fib(cnt));

s

reverse(fibVec.begin(), fibVec.end());

for (cnt 1; cnt 16; cnt++) {
fibVec[cnt] fibVec[0];

s

for (cnt 9; cnt 16; cnt++) {
cout fibVec[cnt] endl;
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-898
-932
—953
-966
-9'74
-979

-982

-9o84

-985

-986

—9086

You win!

Your flag is:flag{987-377-8u43-953-979-985}[
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